BERBRERFRE=2)LT AV 1 AE GHEAD) BR
BSRET FEditiE EERMATRERE
No.| *22 | swrst A mapa | MEE ) EE i *
1] 1-2 B=zET |fRIE(1) 12A4H 0.06
2 | 1-38 RiEHT (fRIE(2) 12A4H 0.06
3| 238 BsZET |[RFRA) 12A48 0.06
4 | 2-4 BSZET PR (2) 12A48 0.07
5| 2-5 =iEHT [MFR(3) 12A48 0.06
6 | 2-6 BSZET |[RFR(4) 12A48 0.06
7| 2-7 BSZET |[RFR(5) 12A48 0.06
8 | 34 RiZHT [WFR(6) 12A48 0.06
9 | 35 BSZET PR (7) 12A48 0.06
10| 3-6 BSZET |RFR(8) 12A48 0.06
1| 37 RiEHT [MFR(9) 12A48 0.05
12| 3-8 BsZET |[RFR(10) 12A4H 0.05
13| 3-9 BsZET |[RFR(1) 12A4H 0.06
14| 4-4 RiEH [WMFR(12) 12A4H 0.06
15| 4-5 BsZET |[RFR(13) 12A48 0.06
16 | 4-6 BsZET |[RFR(14) 12A48 0.05
17| 4-9 RiEHT |[WFR(15) 12A4H 0.05
18 | 4-10 B=ZET |[RFR(16) 12A48 0.10
19| 5-4 BsZET |[RFRAOA7) 12A4H 0.05
20 | 5-5 RiEHT |[MFR(18) 12A48 0.05
21 | 5-10 A=A |[RFR(19) 12A4H 0.05
22 | 5-11 B | KE() 12A4H 0.09
23 | 6-5 i [MFR(20) 12A4H 0.06
24 | 6-10 BsZET |[RFR(21) 12A4H 0.06
25 | 6-11 B | KE(2) 12A4H 0.10
26 | 7-5 RiEH |MFR(22) 12A48 0.07
27 | 7-10 B=ZET |FH(1) 12A4H 0.06
28 | 7-11 B |KE(3) 12A48 0.09
29 | 7-12 2UEET (KB (4) 12A4H 0.09
30 | 7-20 B=ZET |[FH(2) 12A48 0.07
31| 85 B=ZET |[RFR(23) 12A4H 0.06
32| 8-9 =iZHT (FH(3) 12A4H 0.06
33| 8-12 A= | KE(B) 12A4H 0.10
34 | 8-20 B=ZET |Fh(4) 12A4H 0.08
35| 9-5 =2 (FH(5) 12A4H 0.07
36 | 9-9 B=ZET |FH(6) 12A4H 0.06
37| 9-10 B=ZET |FH(7) 12A4H 0.07
38 | 9-12 2iEET (KB (6) 12A4H 0.09
39 | 9-13 B | KE() 12A4H 0.09
40 | 9-14 B=ZET |FH(8) 12A4H 0.09




BERRERFRE=SILT Ay lE GHERAT) BR

BSRET FEditiE EERMATRERE
No.| *722 | skt B mapa | MEE ) EE i %
41| 9-15 B=ZET |FH(9) 12A48 0.09
42 | 9-16 =iz [FQ10) 12A48 0.09
43 | 9-17 FSZET |Fd(11) 12A4H 0.09
44 | 9-18 BSZET |[Fdh(12) 12A48 0.09
45 | 9-19 =i [FHQO13) 12A48 0.09
46 | 9-20 BSZET |[Fdh(14) 12A4H 0.09
47 | 10-4 BszET |EE(1) 12A4H 0.07
48 | 10-5 FSZET |[FH(15) 12A48 0.09
49 | 10-10 BSZET |[Fd(16) 12R48 0.06
50 | 10-13 =iz (FHQO17) 12R48 0.09
51 | 10-14 F=ZET |[Fd(18) 12R48 0.09
52 | 10-18 BSZET |[Fd(19) 12R48 0.10
53 | 10-19 =izl (R (20) 12R48 0.08
54 | 10-20 BSZET |[Fd(21) 12R48 0.10
55 | 11-3 B=zET |F&E(2) 12A48 0.10
56 | 11-4 E3= L0 EC S IQ D) 12A4H 0.07
57 | 11-5 B=zET |[HF(2) 12A48 0.08
58 | 11-11 BSZET |Fd(22) 12A48 0.09
59 [ 11-12 iz [FH(23) 12R48 0.09
60 | 11-13 BSZET |Fd(24) 12R48 0.09
61 | 11-19 BRZET |F(25) 12R48 0.12
62 | 11-20 =iz (R (26) 12R48 0.10
63 | 12-3 B=ZET |F&E((3) 12A48 0.10
64 | 12-4 B=zET |HF(3) 12A48 0.09
65 | 12-5 RiZHT (WF(4) 12A48 0.08
66 | 13-2 BsZET |B/1E(1) 12A48 0.09
67 | 13-3 B=ZET |B/1E(2) 12A48 0.09
68 | 13-4 RiZHT [(WF(5) 12A48 0.09
69 | 14-2 FsZET |H/1E(3) 12A4H 0.08
70 | 14-4 B=ZET |#HF(6) 12A48 0.10
71| 15-2 2IEET [H/1E(4) 12A48 0.09
72 | 15-3 B=ZET |AEC) 12A48 0.09
73| 15-4 B=zET |HF(7) 12A48 0.09
74 | 16-2 E3= 1 =V AQ D) 12A4H 0.08
75 | 16-3 BsZET |FAE(2) 12A4H 0.08
76 | 171 Bzl |RR(2) 12A4H 0.10
77| 17-2 =i (BER(S) 12A4H 0.06
78 | 17-3 B=ZET |AE(3) 12A4H 0.09
79 | 18-2 m=izET |RR(4) 12A4H 0.09
80 | 18-3 RiEHT (A% 12A4H 0.09
81 | 18-4 B=ZET |FAE(5) 12A4H 0.09




BERRERFRE=SILT Ay lE GHERAT) BR

BLEA FdftE BEEMRGRERE
Aya | - RIEE | ESE

No. No. HETA HIE Hh 2 REAR (1 Se/m) (fm) fi £

82 | 19-1 xR |BIR(5) 12848 0.09

83| 19-2 =iEAT |RIR(6) 12A48 0.09

84 | 19-4 SR |AXE(6) 12848 0.09

85 | 20-1 e |BIR(7) 12848 0.08

86 | 20-3 SEAT |A%E(T7) 12848 0.08




